Clarinette 1

Autumn leaves

J=165

#
I

)

#

12

(@]

o=

s
[dan)

18

A

=
—~

7

- >

24

(@)

u

o LT

L
1

ro)

u
#

30

K
u,/
¥

=
o~
AQLLL
o~
ASLLL
o~

=
-

= va 14
) nm




Clarinette 1

39

1)
|74
Y

#

44

9

|

s
o

48

53

e

—
P
>

|

|

S
| 4

#

57

|

-

AN
]

LT

64

s
o

7\
[ fan

70

SN
>

u

ot LT

L
1

76

A
Y
1

=

[ fan

83

u
# T

x4

Fd
P

P.

r 2
PN

v

ot LT

1L
7

90




=

1/

77

IAY

Clarinette 1

L—

#
#
#

96
100
105

77

=

>\_/v

v —=

A

LT

109

114

N
=

s
o

122

>

[

1"’>v

F£2A)

u
o

[ fan

128

()

3
7

s

134

=
i

=

1/

AS

=)
=

u

o LT

L
1

140

W
ot

“

149




